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 KM         =     Michaelis-Menten constant
               Vm          =     maximum metabolic capacity
               TDM      =     Therapeutic  drug  monitoring
               AST       =     Aspartate  transaminase
               ALT        =     Alanine  transaminase
               Alb         =     Albumin
               Clcr       =     creatinine  clearance
               Scr          =    serum creatinine
               Ag-Ab complex =    antigen.antibody complex
               hr          =     hour
               BMI      =    body  mass  index
               CI                       =    confidence interval
               H.N.                   =    hospital number

        Rout      =     $�<��������=��
�$$�=���C�4��
 H�C�
   mg/hr
        C1        =     
����I'�I'�I$4
����"#$�
��J4�	M 1
        C2        =     
����I'�I'�I$4
����"#$�
��J4�	M 2
        S                         =    fraction I$4
��	M��K� acid phenytoin (phenytoin capsules -"�
                                          i.v. injection = 0.92,  phenytoin oral  suspension and chewable
                                          tablets = 1)
        F                         =    bioavailability (1.0  -�� oral  -"�  i.v.)

               D                        =    dose  (mg)
        T          =     ��"� (&�M�%�4)  ��H�C�4 C1 -"� C2


